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Students are advised to go through the lecture notes along with the
following books

1. Engineering Thermodynamics by P K NAG

2. Applied Thermodynamics for Engineering Technologists by EASTOP
& McCONKEY

In case of any typographic mistake, error or any difficulty, students
are advised to call me on 9906763424,7006161837, hanief@nitsri.net

students can call me for arranging video lectures

Students must complete this module within 5 days i.e before
wednesday (6th May).

Two unsolved numerical have been solved from EASTOP (Prob. 1 &4)
students are advised to attempt other problems from EASTOP and PK
Nag.



